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SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
301 LPBNZ 6,000 4,000 2,000
11 HAAHIXIE S 6,000 4,000 2,000
O 2F ZQA B4 DI Y|4
50,0008 * 2021 * 43| » 50% 2,000
O g3 #II183 FAA 21201 AlH|2 4
50,0002 * 409! = 43| * 50% 4,000
401 Al HIZL S 0HY| 10,500 21,000 210,500
01 Al&HI 10,500 21,000 A 10,500
O &Y, S&Z2 5 SHIDIAIY
21,000,000& * 14! * 50% 10,500
Fo=JALS 147,500 215,000 A67,500
401 A& B2 20HL| 147,500 215,000 A67,500
01 AlEHI 147,500 215,000 A67,500
O sa2l(HEel) D2 =2 dHIZ2Al
20,000,0002 » 14 20,000
O dae|(gdel) o2 ot ZESA
20,000,000& * 1A 20,000
O cEel(gFel) stii+2 ZUIZAt
20,000,000& » 14 20,000
O 2A=2I(HAE2l) DS =2 HHIZ2Al
20,000,000& * 14| 20,000
O &Fe/(HEel) 022 ZEIA
20,000,000& * 1A 20,000
O Jtuel(gdel) 02 a2 HHIS A
20,000,000& » 14 20,000
O 13 0ldel OtsZ& OtAZ ZESAL
20,000,000& * 14| 20,000
O Jtizs ¥ 2ets B
15,000,0002 * 141 * 50% 7,500
U= SEAHIA XA 2,372 2,000 372
201 Let23| 2,372 2,000 372
01 ArR22teltl 2,372 2,000 372
O 442 0z)| ZE 2
500,0002 * 24 1,000
O ggd dX=EMHIA 0122
20,0003 = 128 240
O FoIsS== w2 428 29
500,000& = 14! 500
O oZiE ¥ 2sdld HY 2
500,0002 * 14 500
O QA Jtecta)] 2ely|
33,0003 * 43| 132
NS(NMEZF) HOIEEH 29 XA 2,100 2,100
201 LBr23| 2,100 2,100
01 AtR222ltl 600 600
O HOIEESE 2E MRES ¥
50,000& » 12& 600
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 1,500 1,500 0
O HNOIEEE A2 =R
1,500,000& * 1M 1,500
U MSdH 2 SAAIE 28 NE 40,826 8,800 32,026
101 21A4H| 26,586 0 26,586
04 JIZtN2Z2 XS 26,586 0 26,586
O =UMSHEH & dEHssd2A 2UF
& 81,0008 » 121 » 262 » 12& 25,272
O =UHSHH 2 dEHSSH2C =4l
BIESS 1,314
* SEHIRY 165,000& = 32! * 23 990
* 2S012Y 81,0003 = 22! * 23 324
201 et 3| 14,240 8,800 5,440
01 At22t2l] 2,800 1,000 1,800
O 2RTSHE HIE 7Y
1,000,000& * 14 1,000
O =2UMSHE Ro12H S4¥=
1,800,000& * 1M 1,800
02 S3=gHl 11,440 7,800 3,640
O Hd=Xgl2t A2
100,000 = 128 1,200
O =eMFHE sAl2tcld]
200,000& = 12& 2,400
O 20ISHE 22od 2 22y
300,000& = 12& 3,600
O ZCMSHE LeIHOIH HIIZAH
220,000& = 128 2,640
O 2RSHE HIILY| orE2ly]
400,000 * 42l 1,600
s =2y 29 X3 4,380 2,400 1,980
101 @124H| 1,980 0 1,980
MU IIRINZZENSES 1,980 0 1,980
O 1sia="d =3 S| 22
165,000 * 401 x 3 * 23| * 50% 1,980
201 fet=3| 2,400 2,400
01 AtR2t2|HI 1,200 1,200
O d=la=2F d|8 #Y
100,000 = 12& 1,200
2 352484l 1,200 1,200 0
O dzit3=ny |2l
100,000& = 123 1,200
AXHE 29 15,800 14,680 1,120
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O 01d =g Xz 200,640
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* BlOEA Aoy
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O sA=?Ids 2g8l
50,0002 * 242| * 50% 600
ANE2E 32,830 39,550 N6,720
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201 ger=3| 16,330 17,550 A1,220
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O A S 2]
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O ZAb A2 #c| =
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240,000& = 128 2,880
AEINE 2 13,500 22,000 8,500
22X KA 2l 13,500 22,000 8,500
201 B2 AL| 13,500 22,000 8,500
02 2324l 13,500 22,000 A8,500
O A Xz 25U X2 7,400
*» A 200,000& = 128 = 50% 1,200
* HAXE 600,000& * 128 » 50% 3,600
* SKIX 100,000 = 12& * 50% 600
* A2 XS 500,000& * 8& * 50% 2,000
O X MIIsHE
100,000 » 12& * 50% 600
O X=X 2eldl
1,000,000& * 5CH * 50% 2,500
O H2UNE B48 259 ¢
10,000& * 100L 1,000
O HMIIX EEAIE 7X2eltl
2,000,000 » 1M 2,000
SHEES 30,954 6,978 23,976
Azl 8,378 6,978 1,400
ME MY DIl Xel 5,100 3,700 1,400
201 B2 AL| 5,100 3,700 1,400
01 ArR22ltl 5,100 3,700 1,400
O #Z¥sgs 425 7Y
50,000& » 12& 600
O RCEEI| XDl =HE ZHIX=
700,0002 * 43 2,800
O Mo fHEI| 3k 22235 ME
100,000& * 50K 500
O #&0|sied BIE 7Y
100,000& = 123 1,200
HOIEXM2IE 29 2c 3,278 3,278 0
201 2| 3,278 3,278
02 33244l 3,278 3,278
O HII= &8 HMclE 2eltl
100,000 * 123 1,200
O HII2Xel® M3 0V 2z
44,0003 » 12& 528
O HIISXelZ 2telAt et
300,000& * 53 1,500
O HIISHel® EEsE 2
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101 @124H| 9,576 9,576
M ORNZZE2NSE S 9,576 9,576
O AMA sS4 2 AFY
81,000& = 20! = 6 * 12& * 50% 5,832
O 5Sia(D=2Uw, Jtw, Dols, HIA, 9
Anelsel
81,0002 * 12! x 43| = 122 » 50f% 1,944
O JIZtHl 22X 40 2=
300,000& = 122 * 50% 1,800
201 er23| 13,000 13,000
01 AR r2lH] 5,000 5,000
O HASE 2 22| 23 7Y
2,000,000& * 1M 2,000
O BESEA HHX 7Y
3,000,000& * 1A 3,000
2 S5=2g4l 8,000 0 8,000
O BESFA 25 Hel A=)
5,000,000& * 1N 5,000
O 412 =&KX
3,000,000& * 1M 3,000
gl 7,815 1,580 6,235
g2t 7,815 1,580 6,235
NS A =2 7,815 1,580 6,235
101 @124H| 4,815 1,580 3,235
M OIRIMZZ2NSE S 4,815 1,580 3,235
O golAs J|2HH 012l
80,2402 = 12! * 60 4,815
201 fet= 3| 3,000 3,000
02 S3=gHl 3,000 3,000
O g9 *FU 1,000,000& * 1M 1,000
O g9 =& KA
2,000,000& * 124 2,000
HH2AZH(DZH) 163,929 297,391 133,462
el 2| 80,988 159,253 78,265
olIF2AH(N3H) 80,988 189,253 A\T8,265
101 21AH| 80,988 189,253 A\T8,265
01 2= 51,169 99,843 N48,674
O = 22 =8 51,169
* 62
12,8443 = 521 « ABAI2 = 128 * 50%
17,340
* 7g
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* 99
9,808 * 801 x ASAI2t « 122 * 5% 21,008
02 JIER 24 2,428 4,8% 2,428
O 22242 (BAZE)
8,923 » 121 « 45AI2H = 12 * 50% 2,428
03 SR (RIH )22 U2+ 27,391 54,564 N27,163
O Z0leeA 26,457
* 2R 26,457
- omozay
24,580 = 32! = 50AIZH 128 * 50%
22,122
- JgeIf=E
30,1003 = 321 * BAIZH » 12& * 50%
4,335
O LetE8:y o934
* 22
19,4403 = 121 * BAIZH » 122 * 50% 934
=38l 82,941 138,138 85,197
Jl2dtl(n=e) 82,941 138,138 A\B5,197
201 er2 3| 33,990 56,892 N22,902
01 AtR2t2|HI 26,790 49,692 A22,902
O 2AX2gHl 1,100,000& * 182! » 50% 9,900
O S20HAldI
9,000 = 1821 = 10 * 123 » 50% 9.720
O gal=g 60,0002 » 113 * 50% 3,390
O M2y
30,0003 * 25228 = 50f 3,780
02 s3=gHl 7,200 7,200 0
O S2A &5 RBR=s
600,000 * 12 7,200
202 04l 35,454 67,908 A32,454
01 2LHoIH 11,154 22,008 A10,8%4
O =AobI(Ler=
22,0003 * 1821 * 42 « 12& * 50% 9,504
O =olbi(get S2A)
25,0003 = 321 * 3 = 1228 * 50% 1,350
O 2UAHHI(2B0I3tRY)
25,0002 » 32! * 4 13 300
02 XN 24,300 45,900 221,600
O A0
225,0002 * 182l » 12& * 50% 24,300
203 =4l 13,497 13,338 159
01 D[22 HI S| 8,097 7,938 159
O gy 8,097,000& * 1A 8,097
02 HRAJAHA R FAIH| 1,200 1,200 0
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